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Aufgabe 1

Berechne.

a) 637 + 55 = b) 408 — 46 = ¢) 203 — 74 =
637 + 54 = 408 — 47 = 203 — 73 =
637 + 53 = 408 — 48 = 203 — 72 =

d) 563 — 61 = e) 619 — 77 = £) 125432 =
563 — 71 = 619 — 76 = 125+ 42 =
563 — 81 = 619 — 75 = 1254+ 52 =

g) 606 — 17 = h) 916 — 12 = i) 638 — 45 =
606 — 16 = 916 — 22 = 638 — 44 =
606 — 15 = 916 — 32 = 638 — 43 =

i) 239 — 45 =
239 — 44 =
239 — 43 =

Aufgabe 2

Berechne.

a) 87T+ 1 = b) 76 + 7 = ¢)104+4 =
87+ 2 = 76+ 8 = 1045 =

d) 42+ 5 = e) 81+ 6 = £)82+1=

g) 24 +2 = h) 7345 = )23 4+2=

j)22+3 =
22 +4 =
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Aufgabe 3
Berechne.
a) 562 — 30
562 — 40
562 — 50
562 — 60
562 — 70

d) 624 — 28 =

Aufgabe 4

Berechne.
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¢) 423 +5
423+ 5
423 +5
423+ 5
423+ 5

£) 430 + 4
430 + 5
430 + 6
430 + 7
430 + 8

) 770 — 7
770 — 7
770 — 7
770 — 7
770 — 7
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j)3745 =
3746 =
37+ 7=
37+ 8=

Viel Erfolg!
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